52 /)aat ?/(ao 5—(0'78/ e uen
12,793,945
‘é;}' 5 x= +5x -0

5 (xZrx -2)
S(x+ 1)x= 1)
:@jx FTUx £243
3( x <+ 1$x+ 2} .
g I\ ( x+%) = ?llx,_\_z
3(x+9)(x+9 f3-(xr
| 20 ~106%e + 063
| 7 (o> =240+ 9 - ».
— \ R /. ]
((Aa=3 ) qa-3)=[ / a-3 Jl
02 L£*-36E
(pf:(:e-(bl\)
| 7‘+—2A I(o

2(4%+

L4=%)




-~/ AN

v "
X+ % =0 or— X+[[=0
& % =1 -1J

(C) X" =(px-5=0
_ /+ \ - ,‘, = C
\
A N/
2x+120 or Hx-5=0
-\ - £+t
2x= " Ux=> §
~ 2 q v
)
/ xzw-.:._ ol th
(;—<; "
7\ _
(70)| Q9= -30m +2S =0
(3= -5)=0
. P 4
V4
30\6".(:0 or- gh' =0
+S 4§ +S *+S
 FP-S 2p2 §




| N
v
e =0 or (0D at! =
q o g
(Oa = -
101D
A=0 o A= '7‘5
G Py
“E+9x+20=0
Q\f{' (x +‘|)=O
[ \
VA \
N

X+5=0 or y44=0
-5 =5 e B

ix="f oV X=

(=

=



0]
p-7)V(p +7)=0

-
-_

F‘«qq

J

4

|

\

|

pP-")
T+

or P+ 1=0

=0

-7

+7

9-2 =0

~(5.X-llg +2) =0
14

*%7'4—/

2 )

(56 —1)(q9 — 2

=0

\

i

/

t

-

q—-2 =)
C2 +2

or

[\»

o




R \
) HAvea= 4D 0= x(x+3)
—
M Y0 = x"+3x
X+ X =H0 =0
Nagh ) .
X =5 )(x+%) =0
Y
X’S—:O ol VX‘\‘?:Q
S +S -¥ %
[——— —
IX=5) 6 x=-% |
| — J
o _ , \
[A3)  Ares = 05 (05 = % [ 2%+|)
I—\._/ J
/}K (05 = Ly - X
| Vx +x —105 =0
x|

(Zx + 15) (x= 1) =0
\— /N i

254620 o0 X=1=0

-5 =0y +7) +7

LK =13

[
[X="—"" or [X= /||
: -

:J._._._- e —r e ——————————————————————————————————————————————————————
]




7 .
(T5) Acea= || b= 7 X /ZX | +4x+3 )
— 2| J
//g,\ =L (G 2)
{
' M3 | [H=> 5 X (( +2,\
{ < ?1\1—\—X
3x Etx~11H4=0 I
Rxrx (=~ L) =0 I
3Ixx4=0 40 xX~—(L=0) |
o e _ 46 'f(:
Sx.=-19
3 3
D G —

xX=-|

J—
K o IX:? L\\
3 "\JJ




